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The following table shows the percentage (%) distribution of total marks scored by Amit (a
student in a class) in Test-1 and Test-2. Both Tests consist of six subjects, namely,
Mathematics, Physics, Chemistry, Hindi, IT and English. Amit scored a total of 750 and 800
marks in Test-1 and Test-2, respectively. Based on the data in the table, answer the questions
that follow.

Subject-wise Distribution of Marks

Distribution (%) of Marks
Subject

Test-1 Test-2
Mathematics 20 % 21.750 %
Physics 22 % 18.125 %
Chemistry 16 % 18.000 %
Hindi 14 % 16.250 %
IT 10 % 12.375 %
English 18 % 13.500 %

Frafatam oifte & witen @) 1 v an 2 & oiftm (Fan 71 v& o) TR T T P!
1 ufawra e gwifar mar 81 29 wdiensl § & Rwg T v, v, = me g,
&1, ong & ofiR it =nfire & 1eifia 7 wdtem 1 ofX wfian 2 & A= T4 750 3R 800 3T
T frw | aifereT o fow e eriesi & omuR W gt uydi & 3 difve:

3! & [AugaR fgawm
- 3@ @I G (%)
U318 1 T{l&T 2
TIford 20% 21.750 %
vifqat 22 % 18.125 %
4o fagH 16 % 18.000 %
fe=dt 14 % 16.250 %
33 <& 10 % 12.375 %
U 18 % 13.500 %

Total marks scored by Amit in Physics, Chemistry and Mathematics together in Test-2 is

1. 461
2.463
3. 465
4. 467

1 1
() 2




3) 3
(4) 4

HfE RT Tdie-2 & vifa@!, TargH fagm ok ftrd & ue Oy U U T o9 ofw fead &2

1. 461
2,463
3. 465
4. 467

1)
(2)
(3)
(4)

A W N R

1[Option ID=46901] Question Description : dwbv_pg_gp10_eng_2_q1l
2[Option ID=46902]
3[Option ID=46903]
4[Option ID=46904]
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The following table shows the percentage (%) distribution of total marks scored by Amit (a
student in a class) in Test-1 and Test-2. Both Tests consist of six subjects, namely,
Mathematics, Physics, Chemistry, Hindi, IT and English. Amit scored a total of 750 and 800
marks in Test-1 and Test-2, respectively. Based on the data in the table, answer the questions
that follow.

Subject-wise Distribution of Marks

Distribution (%) of Marks
Subject

Test-1 Test-2
Mathematics 20 % 21.750 %
Physics 22 % 18.125 %
Chemistry 16 % 18.000 %
Hindi 14 % 16.250 %
IT 10 % 12.375 %
English 18 % 13.500 %

Frafafaa aiftre & witan @) 1 ot oiien 2 & offa (@an $7 v% o) R UTE T 3!
1 ufewra faror gwifar mar &1 Y wfienst & o vy e 7fm, Wi, e e,
&=t ong & ofir st =nfire & 1eifia 7 wdtem 1 ofR wian 2 & A= T4 750 3R 800 3T
T T | arfereT # AT 1 sfidsi & SMUR TR ST Usl & S aifeig:

3! & [AugaR faawm
- 3l BT G (%)
U141 T{1&T 2
TIford 20% 21.750 %
vifqat 22 % 18125 %
- fagH 16 % 18.000 %
&gt 14 % 16.250 %
33 & 10 % 12.375 %
S 18 % 13.500 %

The difference of marks scored by Amit in Chemistry in Test-2 and that in English in Test-1 is

1.36
2.15
3.9
4.0

(1) 1
(2) 2
3) 3
4) 4




SifErd gRT udten 2 ® oA foga | ok odten 1 | Sl § und fu e ofd! &1 ofdw fea g7

1.36
2.15
3.9
4.0

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46905] Question Description : dwbv_pg_gp10_eng_2_q2
2[Option ID=46906]

3[Option ID=46907]
4[Option ID=46908]

Sl. No.3
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The following table shows the percentage (%) distribution of total marks scored by Amit (a
student in a class) in Test-1 and Test-2. Both Tests consist of six subjects, namely,
Mathematics, Physics, Chemistry, Hindi, IT and English. Amit scored a total of 750 and 800
marks in Test-1 and Test-2, respectively. Based on the data in the table, answer the questions
that follow.

Subject-wise Distribution of Marks

Distribution (%) of Marks
Subject

Test-1 Test-2
Mathematics 20 % 21.750 %
Physics 22 % 18.125 %
Chemistry 16 % 18.000 %
Hindi 14 % 16.250 %
IT 10 % 12.375 %
English 18 % 13.500 %

Frafatam oifte & witen @) 1 v an 2 & oiftm (Fan 71 v& o) TR T T P!
1 ufawra e gwifar mar 81 29 wdiensl § & Rwg T v, v, = me g,
&1, ong & ofiR it =nfire & 1eifia 7 wdtem 1 ofX wfian 2 & A= T4 750 3R 800 3T
T frw | aifereT o fow e eriesi & omuR W gt uydi & 3 difve:

3! & [AugaR fgawm
- 3@ @I G (%)
U318 1 T{l&T 2
TIford 20% 21.750 %
vifqat 22 % 18.125 %
4o fagH 16 % 18.000 %
fe=dt 14 % 16.250 %
33 <& 10 % 12.375 %
U 18 % 13.500 %




The percentage rise in marks scored by Amit in IT, from Test-1 to Test-2, is

1.25%
2.28%
3.32%
4,39 %

(1) 1
(2) 2
3) 3
(4) 4

TI&T 1 1 o1 H ORI 2 H SHfEd gR1 SAIs el (a1 Ui # wi sid! H fasa- wioera &
EAGEEEH

1.25 %
2.28 %
3.32%
4.39 %

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46909] Question Description : dwbv_pg_gp10_eng_2_q3
2[Option ID=46910]

3[Option ID=46911]
4[Option ID=46912]
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The following table shows the percentage (%) distribution of total marks scored by Amit (a
student in a class) in Test-1 and Test-2. Both Tests consist of six subjects, namely,
Mathematics, Physics, Chemistry, Hindi, IT and English. Amit scored a total of 750 and 800
marks in Test-1 and Test-2, respectively. Based on the data in the table, answer the questions
that follow.

Subject-wise Distribution of Marks

Distribution (%) of Marks
Subject

Test-1 Test-2
Mathematics 20 % 21.750 %
Physics 22 % 18.125 %
Chemistry 16 % 18.000 %
Hindi 14 % 16.250 %
IT 10 % 12.375 %
English 18 % 13.500 %

Frafafaa aiftre & witan @) 1 ot oiien 2 & offa (@an $7 v% o) R UTE T 3!
1 ufewra faror gwifar mar &1 Y wfienst & o vy e 7fm, Wi, e e,
&=t ong & ofir st =nfire & 1eifia 7 wdtem 1 ofR wian 2 & A= T4 750 3R 800 3T
T T | arfereT # AT 1 sfidsi & SMUR TR ST Usl & S aifeig:

3! & [AugaR faawm
- 3l BT G (%)
TITE 1 T{1&T 2

TIford 20% 21.750 %

vifqat 22 % 18125 %

- fagH 16 % 18.000 %

&gt 14 % 16.250 %

33 & 10 % 12.375 %

S 18 % 13.500 %

The marks scored by Amit in Mathematics in Test-2is _____ % of the marks scored by him in the

same subject in Test-1.

1.116
2.124
3.96

4. 86.2

1) 1
(2) 2
(3) 3
(4) 4




&M (¢¥e) 2 T i g AIiird o UTw oidh URial 1 H 39 gR1 0 1 o] U il &1 fdvaT
e e -

1.116
2.124
3.96

4. 86.2

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46913] Question Description : dwbv_pg_gp10_eng_2_q4
2[Option ID=46914]

3[Option ID=46915]
4[Option ID=46916]

Sl. No.5
QBID:10201005

The following table shows the percentage (%) distribution of total marks scored by Amit (a
student in a class) in Test-1 and Test-2. Both Tests consist of six subjects, namely,
Mathematics, Physics, Chemistry, Hindi, IT and English. Amit scored a total of 750 and 800
marks in Test-1 and Test-2, respectively. Based on the data in the table, answer the questions

that follow.

Subject-wise Distribution of Marks

Distribution (%) of Marks
Subject

Test-1 Test-2
Mathematics 20 % 21.750 %
Physics 22 % 18.125 %
Chemistry 16 % 18.000 %
Hindi 14 % 16.250 %
IT 10 % 12.375 %
English 18 % 13.500 %

Frafafaa oiftre & witen @) 1 ofiv wfien 2 & oifta (Fan &1 ve o) TR TG T B!
FT Ufawrd fAavor Sxfar Tar €1 3T Wiansit § o g Tme: nfvm, Jifast, wmee fags,
&=, omg & ofi oieht =fie & 1o 3 witam 1 ofiy wfiem 2 & HHw: $ 750 3T 800 FF
T e | arfereT & 3w e siesi & MuR R 9= ust & I difee:

il @1 fawaaR faawm

- 3@ @I G (%)
TE 1 T 2
HILG| 20 % 21.750 %
vifast 22% 18.125 %
o fagE 16 % 18.000 %
fe=al 14 % 16.250 %
35 2 10 % 12.375 %
EDEl 18 % 13.500 %




The marks scored by Amit in Physics in both tests together is approximately % more than
the marks scored by him in Hindi in both tests together.

1.35
2.27
3.30
4,32

1)
(2)
(3)
(4)

HET gRI AT gdtenadt 7 1ifawt § ura ofF aFf wienst & 3ue g1 o § und of T @
PGSO

A W N =

1.35
2.27
3.30
4,32

1)
(2)
(3)
(4)

A W N R

1[Option ID=46917] Question Description : dwbv_pg_gp10_eng_2_q5
2[Option ID=46918]
3[Option ID=46919]
4[Option ID=46920]

Sl. No.6
QBID:10201006

Which of the following is not the characteristics of learning?

1. Change in behaviour is relatively enduring.

2. Learning does not necessarily imply improvement.

3. Learning involves reconstruction of experiences.

4. Learning necessarily implies development in right direction.

1)
(2)
(3)
(4)

A W N R

fafiad & ®1F ifirm & 3 781 82

1. 0d8R H UitacH Tved: Taea ol

2. SR H Ha=g® ¥4 Y YR idi-iEd T8l gl el

3. P o yEl &1 O To gl B

4. JfH, Ue1 fomn | sowg® ¥ 9§ o™ @i 3fdfied @l el

1)
(2)
(3)
(4)

A W N R

1[Option ID=46921] Question Description : dwbv_pg_gp10_eng_2_q6
2[Option ID=46922]
3[Option ID=46923]
4[Option ID=46924]
|




Sl. No.7
QBID:10201007

In 'ADDIE" Model of instructional design "A’ stands for:

1. Argue
2. Analyze
3. Amplify
4. Apply

1)
(2)
(3)
(4)

IS Udhed & 'ADDIE HIgd & A" BT W &:

A W N R

1. dH BT
2. fo=ctuo &
3. @ &

4. 3G BT

1)
(2)
(3)
(4)

A W N R

1[Option ID=46925] Question Description : dwbv_pg_gp10_eng_2_q7
2[Option ID=46926]
3[Option ID=46927]
4[Option ID=46928]

Sl. No.8
QBID:10201008

Given below are two statements:

Statement I: The basic function of illustrative case studies is to make unfamiliar familiar and to
give readers a common language about the topic in question.

Statement II: The basic function of exploratory case studies is to collect the past studies that allow

for greater generalization without additional cost or time being extended on new possibly
repetitive studies.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

(1)1
(2) 2
(3) 3
(4) 4




o

Y - | : SPTADR] Bl HEHI BT HeHd,/ HATURYd B 3F1d b J1d DI AR GYETT 1999 & R

¥ UTe®] & foTT GHM {9 WeH &1 8 |
TUA - || : GHOHT DY AT BT SURYT / JAYd B ¢ THET HGad AL IR HfaRkad anrd

T

THY & 81 7d 9! &1 U8 H31 § o s WURUTHI B Wbl Hd 8

Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -

1)
(2)
(3)
(4)

1. ®Y | 3R 11 §FT 9ET E
2. %Y | AR 11 BF A &
3. BYT 1 el g, T Y 11 TTed B
4. Y1 7TAd & , fb=g By 11 98T 21

A W N =

1[Option ID=46929] Question Description : dwbv_pg_gp10_eng_2_q8
2[Option ID=46930]
3[Option ID=46931]
4[Option ID=46932]

Sl. No.9
QBID:10201009

Given below are two statements:

Statement I: The channels of Swayam Prabha are uplinked from BISAG-N Gandhinagar.

Statement II: In Swayam Prabha everyday, there will be a new content for atleast 5 hours which
would be repeated four more times a day, allowing the students to choose the time of their
convenience.

In light of the above statements, choose the correct answer from the options given below:

1)
(2)
(3)
(4)

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

A W N R

EIEEAG R E AT
T - | - T4 U1 & 9d] DI &1 TS TF TS - TF (BISAG-N) TEfR & Sig1 T &1

S - 11 - T8 UM Ufafed gaaH s ¢ & fon ue =3 fawgasg g et wfafes 9R eR gRigh
DI AT difcs faemed sro- giasn & SFER 99y &1 994 L 94|

Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -

1. Y | 3R 11 ST FET B
2. YT AR I GHI Tad &
3. HYF 1 el g, fooeg YA 11 TTad B
4. T T, g I I T R




(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46933] Question Description : dwbv_pg_gp10_eng_2_q9
2[Option ID=46934]

3[Option ID=46935]
4[Option ID=46936]

Sl. No.10
QBID:10201010

Which of the following is the National coordinator for SWAYAM for Management Studies?

1. 1M Bangalore
2. 1IM Ahmedabad
3. IIM Calcutta

4. 1IM Indore

1) 1
(2) 2
(3) 3
(4) 4

fFrafafad 3 o1 ude siem & g T (swavaMm) &1 AP TH0S § 7

1. 313 33 TH §7aR

2. 32 3§ UH SEHCIEG
3. TS TS UH Il
4. 33 31 TH3GR

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46937] Question Description : dwbv_pg_gp10_eng_2_q10
2[Option ID=46938]

3[Option ID=46939]
4[Option ID=46940]

Sl. No.11
QBID:10201011

In the context of hypothesis testing using paired t-test, if n is the number of pairs in the two
related samples, the degree of freedom is

1.2n-1
2.2n-2
3n-1
4. n

(1)1
(2) 2
(3) 3
(4) 4




g +- U180 & U © UikaeaH1 GHIa & deH | 31 n &1 Yafid uidexil § gmil & Sen g
dl Wd=dl @i il &:

1. 2n-1
2.2n-2
3.n-1
4. n

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46941] Question Description : dwbv_pg_gp10_eng_2_q1l1
2[Option ID=46942]

3[Option ID=46943]
4[Option ID=46944]

Sl. No.12
QBID:10201012

Answers to which among the following questions can be found in the ‘Introduction’ section of a
research paper?

A. What were the patterns of behaviours among participants?

B. What do we know about this topic from previous research?

C. What do the results mean?

D. What are the authors trying to demonstrate in their research?
E. How do your results relate to other kinds of research?

Choose the correct answer from the options given below:

1. A B and Conly

2.Band E only
3.A D and E only
4.B and D only

(1) 1

(2) 2

3) 3

(4) 4




e U o URATaH1 YT H FafeiEd el J 9 $19-8 Uyl & 3 U” S 9dd o7
A. URTHITT & SagR & uicH @ 47
B. 39 XY 999 W gd =l T 1 TR 0 & |
C.59d Fpu mra i g 7
D. 30 WY H TP T USRI B P U IR E S 2
E. AU WY & Y 3 THR WY & FHRI 4 By Faled 87
i< f&T 70 fadedi # 9 981 ST I -
1.®dd A, B 3R C
2. Had B 3R E

3. HadA D IRE
4.%ad B 3R D

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46945] Question Description : dwbv_pg_gp10_eng_2_q12
2[Option ID=46946]

3[Option ID=46947]
4[Option ID=46948]

Sl. No.13
QBID:10201013

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A): The quality of research publications in peer reviewed journals is generally better
than those in the journals where the process of peer review is absent.

Reason (R): The chances of obvious errors or other problems getting detected or corrected before
publication in peer reviewed journals are same as in other journals where peer review is not

followed.

In light of the above statements, choose the most appropriate answer from the options given

below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A&).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1)1
(2) 2
(3) 3
(4) 4




TG By GUU G : Ud @ SUSHYA (A) SR g8 @I BRI (R) Hal T gl

HIYEYA (A) - GHS A (UTER) GHIEE Sl J QY UHIEE| S Auadl SHEFRd] 34 aHdl H U1
Y WA B IO § d5eR & o grdalt (dimR) geiten T8 31 ot 2

DR (R) : THGEN (UTER) YHEE Sl H UH1EH I Ugd Yae Fiedl 31 30 GUsl Tawiai &1
fafd o1 Ifid B & 3aER 30 g sl & ogl ga®et (JR) wter 7€ &1 wIdl 8, 99 8
gl

JUldd Sl & HITld | FHifdsd [deedl H 4 9el Sk g -

1. (A) 3R (R) TFI Tal & 3R (R), (A) D! Ue! ARAT 8 |
2. (A) 3R (R) ST W61 & TR (R), (A) I el AR el &1
3. (A) W8I W (R) el Tol &
4. (A) Hgl 981 & U3g (R) F&! o

1[Option ID=46949] Question Description : dwbv_pg_gp10_eng_2_q13
2[Option ID=46950]
3[Option ID=46951]
4[Option ID=46952]

Sl. No.14
QBID:10201014

The degree to which observed values/scores are free from errors of measurement, refers to

1. Reliability

2. Content Validity
3. Construct Validity
4. Criterion Validity

1) 1
(2) 2
3) 3
(4) 4

ierg 7/ Sidb 5/ aE)y $ife 9o A1Y- 31 § 994 i &, 94 b9y Ueiid del 9l 62

1. feygigar g
2. [awuasg &1 quar 9
3. T qua 9
4. qyaTAHCE T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46953] Question Description : dwbv_pg_gp10_eng_2_q14
2[Option ID=46954]

3[Option ID=46955]
4[Option ID=46956]

Sl. No.15
QBID:10201015




One of the many common abbreviations used in research reports is 'n.d.". It means

1. no date
2.no data

3. no details

4. non descript

1)
(2)
(3)
(4)

Ty ufaden § 3M® 9 SaUeR! & Ue QaUIER n.d. &1 W fhar S1dr 8 | 39@ 3
1. fofy 3fga

2. Jimel ed
3. fageu 3ed
4. HIYRO

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=46957] Question Description : dwbv_pg_gp10_eng_2_q1l5
2[Option ID=46958]
3[Option ID=46959]
4[Option ID=46960]

Sl. No.16
QBID:10201016

Which of the following is an exclusive element identified by Wilbur Schramm in the process of
mass communication?

1. Sender

2. Receiver

3. Channel

4. Field of experience

(1)
(2)
(3)
(4)

A W N R

SN @i Ufeed & FRfafad @F ¥ 39 dw @I [deae W )1 fRd a2

1. U9&

2. U@l

3. T

4. 3Yd & &7

1)
(2)
(3)
(4)

A W N R

1[Option ID=46961] Question Description : dwbv_pg_gp10_eng_2_q16
2[Option ID=46962]
3[Option ID=46963]
4[Option ID=46964]

Sl. No.17
QBID:10201017




In communication, content filters are known as

1. Monitors

2. Foremen

3. Content guards
4. Gatekeepers

1) 1
(2) 2
3) 3
(4) 4

U F, fqdg-Feed @ e fihecd) @1 39 9§ 9 &

1. AR

2. BIREA

3. ®de TS (Jdqdg gard)
4,712 BIR (GR-IED)

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46965] Question Description : dwbv_pg_gp10_eng_2_q17
2[Option ID=46966]

3[Option ID=46967]
4[Option ID=46968]

Sl. No.18
QBID:10201018

The main features of the interactional model of communication are:

A. It is best suited for new media.

B. The feedback is done in circles.

C. It is associated with the concept of field of experience.

D. This model is also known as convergence model.

E. Here the communication always happens between two familiar persons.
Choose the correct answer from the options given below:

1. A B and Conly
2.B,Cand D only
3.A Cand D only
4.C, D and E only

(1) 1
(2) 2
(3) 3
(4) 4




TNl & ST fhards Uiaey (Hisd) S g fa2udnd g:-
A. U8 F9-Hifg1 & for waifie 3uge |
B. Ufgf¥ 9% 14 (@UPR) &7 5 &1 9 gl
C. g8 M-8 DI HTURON H Halfed g
D. g Hisd HAMRU Aisd & 4§ f ST Jar 8
£, TOH TUU 54 of URfId Sfgadl & g i 8|
i feu 7 fadhedi H U Ugl IR 94 -

1. WA A, B3R C

2. Had B, C 3T D

3.HaAA C3R D

4.%aAC, D, AR E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46969] Question Description : dwbv_pg_gp10_eng_2_q18
2[Option ID=46970]

3[Option ID=46971]
4[Option ID=46972]

Sl. No.19
QBID:10201019

Given below are two statements:

Statement |: Of all the types of communication, interpersonal communication is the most
effective.

Statement |l: Human factors in direct communication are the greatest influencers as they carry the
element of credibility.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




EIEEAG R E AT
DY - |- SO0 & it TRt H erRanfaas SuYT 9aiie uHiE ST gl

FHYF - 11 : Uef JU0 § A6 SRS Falide uHdt sid & Faifes sod Rya-iad &1 a@ faemm
B gl

U BYAl & el H HafaRad fawel 5 9 98 Iw g ;
1. ®YT | 3R 11 SHT 9eT B
2. @Y | R 11 GF Tad 81
3. @Y | Tel &, forq @Y 11 TTAd 8
4. YA 7TAd & , fbg By 11 98T B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46973] Question Description : dwbv_pg_gp10_eng_2_q19
2[Option ID=46974]

3[Option ID=46975]
4[Option ID=46976]

Sl. No.20
QBID:10201020

Given below are two statements:
Statement I: Too much of media communication has necessitated the need for media.

Statement |I: The audience fragmentation and media literacy are unrelated areas of mass
communication.

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1) 1
(2) 2
(3) 3
(4) 4

EIEEEC AR A
BU - | - A Hifsar guwor 3 Hifsar &t snawusd o sedl a1 fear g1

DU - 11 I/ e¥ie G AR Hifsar gerar 91-9uun & T & B
SUddd Byl & el § FHafaRed et § 9 98 W g -

1. @Y1 AR 11 GH Fal &l

2. BY 1 3R 11 GHT TTAd &

2. BY | HEl 8, g @Y 11 710 &
4. YA | a8, fobeg B 11 B B

(1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=46977] Question Description : dwbv_pg_gp10_eng_2_q20
2[Option ID=46978]
3[Option ID=46979]
4[Option ID=46980]

Sl. No.21
QBID:10201021

Simple interest accrued on a sum of certain principal is Rs.1200 in 4 years at the rate of 8 % per
annum. What would be the simple interest accrued on the thrice of the amount of the principal at
the rate of 6 % per annum in 3 years?

1. Rs. 2025
2. Rs. 2125
3. Rs. 2000
4. Rs. 2150

(1)1
(2) 2
(3) 3
(4) 4

T Taee @1 4RI R 8 % Wiaad & a3 § 4 T91 H W YR 0TS 1200 ¥4 & | 33T TeeH i
YRIT & TR UR 6 9 Uicay &I a2 4 3 9ul H Uit g+ diall WILRU SATs fdva-l gRI?

1.2025 394
2.2125 %0
3. 2000 0T
4.2150 ¥94

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=46981] Question Description : dwbv_pg_gp10_eng_2_q21
2[Option ID=46982]

3[Option ID=46983]
4[Option ID=46984]

Sl. No.22
QBID:10201022

The sum of 15 terms of an AP (Arithmetic Progression) series is 600 and the difference between
any two consecutive terms is 5. Find the first term of the series.

1.5
2.7
3.8
4.9

1) 1
(2) 2
(3) 3
(4) 4




% iR Joft (@ o §%5e & 15 UGl @ RThd 600 & R Gl &l HANTd gl & A9 $T 3l 5 3
U 4Gl &1 UYH US HId BT

1.5
2.7
3.8
4.9

1)
(2)
(3)
(4)

A W N =

1[Option ID=46985] Question Description : dwbv_pg_gp10_eng_2_q22
2[Option ID=46986]
3[Option ID=46987]
4[Option ID=46988]

Sl. No.23
QBID:10201023

Average age of a Group of 40 boys is 15 years. A boy of age 20 years leaves the group and a new
boy joins the group. If the average age of the new group becomes 15.2 years, then find the age of
the new boy.

1. 20 years
2. 22 years
3. 25 years
4, 28 years

1)
(2)
(3)
(4)

A W N R

40 TS & UH THE I AT 31 15 T8 21 20 T8 DI AT &I UF ASHI 39 U4 &I 318 &dl & IR
TP 91 TS W H A 5idl ¢ | AfE ¢ THE @I Sd 3 15.2 T4 1 &1l g, af -1 2
SU TS DI AT 1d DIl

1.20 34
2,227
3.253Y
42834

1)
(2)
(3)
(4)

A W N R

1[Option ID=46989] Question Description : dwbv_pg_gp10_eng_2_q23
2[Option ID=46990]
3[Option ID=46991]
4[Option ID=46992]

Sl. No.24
QBID:10201024




A two digit number has 3 in its unit's place and the sum of the two digits of the number is 1/7 of
the number itself. Find the number.

1.73
2.63
3.83
4.93

1)
(2)
(3)
(4)

A W N =

Ul &l 3 3 I8 § S WH W 3 § AR T & &l 3@ &1 a0 39 9= &1 1/7 8l 8|
T J1d B

1.73
2.63
3.83
4.93

(1)
(2)
(3)
(4)

A W N R

1[Option ID=46993] Question Description : dwbv_pg_gp10_eng_2_q24
2[Option ID=46994]
3[Option ID=46995]
4[Option ID=46996]

Sl. No.25

QBID:10201025
In a certain coded language 'ORANGE' is coded as "QUESML'. How APPRICOT will be written in
that language code?

1. CSSOWICW
2. CSWTOIWC
3. CSTWOJWC
4, CS5WOIWC

1)
(2)
(3)
(4)

i Ffid $eas YT T "ORANGE' 1 'QUESML' & &1 H Heds fbdT 71 &1 34T §e |
T APPRICOT &1 &4 ferar SITeem?

A W N =

1. CSSOWICW
2. CSWTOIWC
3. CSTWOIWC
4, CS5WOIWC

1)
(2)
(3)
(4)

A W N R

1[Option ID=46997] Question Description : dwbv_pg_gp10_eng_2_q25




2[Option ID=46998]
3[Option ID=46999]
4[Option ID=47000]

Sl. No.26
QBID:10201026

"Mr.Arun's new car is silver grey, has grey leather upholstery and gives excellent mileage.
Mr.Varma's new car is also silver grey and has grey leather upholstery to match. | am sure
Mr.Varma's car must be equally good with fuel efficiency too.” Which of the following fallacy is
committed in the above argument?

1. Amphiboly
2. Weak analogy
3. Slippery slope
4. Straw Man

(1)
(2)
(3)
(4)

A W N R

fiReR 3R @ T3 BR I9d-4R (Fea? U) {1 &1 § o I 31 @ TeaR 98¢ &1 $4l ol & 3R
IMER Hia-gdi( JRas) ¢ drkl o | e aaf &1 78 &R off Wd- 4R (e ) T30 8 ok 394

YT T B TEER 98 I DUl ol o | 9 Ay § e a6l 1 $R H 3u9 $¥adl | 99@ 9AH

g enfl IRied By § Fufafad o adbem 87

1. 03T ABGIY
2. HHWR AR @i THiarme)
3. Thaegad oo (FRudl i)

4. 91Ul abary (LIEA)

(1)
(2)
(3)
(4)

A W N R

1[Option ID=47001] Question Description : dwbv_pg_gp10_eng_2_q26
2[Option ID=47002]
3[Option ID=47003]
4[Option ID=47004]

Sl. No.27
QBID:10201027

If the statement "Some golf players are not rich persons”, is given as false which of the following
statements can be inferred to be true?

A. All golf players are rich persons.

B. Some golf players are rich persons.

C. No golf players are rich persons.

D. Some rich persons are golf players .

Choose the correct answer from the options given below:

1. A and D only
2.B and C only
3.A Band D only
4. A B and Conly

1) 1




(2) 2
3) 3
(4) 4

I Ty S e faars! u safed 781 & 3@ & 0 H f&ar m 21§ g &9-8 o=
T & 0§ 3IH1d [hd ol 9%d & -

A I Miew Raendl o aafad g1
B. B9 TIich fQarel 4l Afad B
C. B3 i 7liew fEaret ot sofda 18l 8|
D. & Yl oidd e Raarsi g
il feu e famel 5 4 9 SR A -
1.HaA A R D
2. 5qaB AR C

3.®ad A, B3R D
4.BAAA, B AR C

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=47005] Question Description : dwbv_pg_gp10_eng_2_q27
2[Option ID=47006]

3[Option ID=47007]
4[Option ID=47008]

Sl. No.28
QBID:10201028

Which of the following propositions are so related that one is the denial or negation of the other?
A. All electrical vehicles are environment friendly transportation medium.

B. Some electrical vehicles are environment friendly transportation medium.

C. No electrical trains are environment friendly transportation medium.

D. Some electrical vehicles are not environment friendly transportation medium.

Choose the correct answer from the options given below:

1. A and C only
2. A and D only
3.B and D only
4.Cand D only

(1) 1
(2) 2
(3) 3
(4) 4




Fgfeiad # ¥ ®H-4 Ul 38 UoR ¥ Hditd & o 5FH U, gar @1 e +ydl [Huy g2
A. G Saifded dre- JaiaRy Sdd Ude- & WA gl
B. P@ Salfaed ae- TaTaRol @ URkaegd & TeF B
C. ®ig i geifded ¢4 gl 3[EHa URkde &1 H1eF el g
D. $@ galided digd YAyl 3 dd Uag & a1eH el g
i< feu e faweal 5 9 981 IR 9 -
1. ®ad A 3R C
2.5ad A 3R D

3. WA B 3R D
4.%ad CIAND

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=47009] Question Description : dwbv_pg_gp10_eng_2_q28
2[Option ID=47010]

3[Option ID=47011]
4[Option ID=47012]

Sl. No.29
QBID:10201029

Which of the following statements are equivalent?

A. All plants are living organisms.

B. No plants are non-living organisms.

C. Some plants are living organisms.

D. All non-living organisms are non- plants .

Choose the correct answer from the options given below:

1. A B and D only
2. A and Conly
3.B,Cand D only
4. Cand D only

1) 1
(2) 2
(3) 3
4) 4




Fufiad ®H-4 du= 9aq 87
A T Oie Tefid B
B. I3 i Olen TR-Tolig 71 8
C. 3 Ul YSig g
D. Juff TR-gwitg, TR 0e €1
= fu 70 fgdenl § @ 9dl IR g4 -
1.5adA A, B IR D
2. HadA AR C
3. ®ad B, C AR D
4. BaAC 3R D

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=47013] Question Description : dwbv_pg_gp10_eng_2_q29
2[Option ID=47014]

3[Option ID=47015]
4[Option ID=47016]

Sl. No.30
QBID:10201030

"There is smoke on the distant hill. Since smoke is always accompanied by fire, the hill must have
fire too." Which of the following corresponds to the middle term (hetu) in the above argument?

1. Fire

2. Hill

3. Fiery Hill
4. Smoke

(1) 1
(2) 2
(3) 3
(4) 4

g T Udd W yai ¢ Fifer Ta1 Yaii SIchl & 961 Had SN Gl o; SHICTY Udd UR 34 &1 3T
ST =18 I+ SWied gfed & FEfied § 9 $H-99 Ug (89 & 91y SHEUd] TEdT 87

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47017] Question Description : dwbv_pg_gp10_eng_2_q30
2[Option ID=47018]

3[Option ID=47019]
4[Option ID=47020]

Sl. No.31
QBID:10201031




Sunita has a number of files of different sizes that contain her work. In this context, which of the
following statements are TRUE?

A. 47 kilobytes is larger than 10 megabytes.

B. 250 bytes is smaller than 0.5 megabytes.

C. 50 gigabytes is larger than 100 megabytes.

D. 1 Terabyte is smaller than 4 gigabytes.

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Cand D only
4. A and D only

(1)
(2)
(3)
(4)

A W N R

GiTaT & U - ISR arell o Bisd & [oHH 3de M W el sH ded d g d g o Y
T el 87

A 47 TPaEREe 10 MEREe B 3T &
B.250 9I3C 0.5 HEEc U dH &
C. 50 TTTEEe 100 AEEe § 31U B
D. 1 2YETEE 4 M EEe 4 $H 2
<< feg e fadeal 5 4 9l SR 9 -
1. ®ad A 3R B
2.%au B 3R C

3. HIACIHR D
4. HaAA IR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=47021] Question Description : dwbv_pg_gp10_eng_2_q31
2[Option ID=47022]
3[Option ID=47023]
4[Option ID=47024]

Sl. No.32
QBID:10201032




A teacher creates a presentation to advertise the Annual Sports Day. Which of the following show
features that allow navigation around a presentation?

A. Master page

B. Hyperlinks

C. Animations

D. Hotspots

E. Slide numbers

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Aand Conly
4.B and D only

1)
(2)
(3)
(4)

U@ Ra@ 4 affe 9 fead @i fawfd &3 & ot t@ ogfd s | 9§ 9 oH-8H 94
faftrparet &1 gxid & S wegfa & fieaTer &3 &t srafa ad &2

A ARET U
B. ERWRd®
C. uFEEH

D. Ble-Wey

A W N R

E. &ilgs AR

o feu U fadeal H U 9el 3R 94 :
1. Had A 3R B
2.®HAACIAND

3. WA A AR C
4. HadA B 3R D

1)
(2)
(3)
(4)

A W N =

1[Option ID=47025] Question Description : dwbv_pg_gp10_eng_2_q32
2[Option ID=47026]
3[Option ID=47027]
4[Option ID=47028]

Sl. No.33
QBID:10201033




Given below are two statements:

Statement I: All the courses through SWAYAM platform are interactive, prepared by the best
teachers in India and are available free of cost to the learners.

Statement Il: NCTE is a National coordinator of SWAYAM for Under Graduate education.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1)
(2)
(3)
(4)

A W N =

IR TR A =

DY - | : U WEHH o HIEH Y Ugd 91 UIeusH i ardd €, HRd & gdiaH [RIged! grRI
daR fee 7Y § SR fRianar o FH:3em Suds g

HUT - 11 T U1 1 S yd-wide i Riem g 0" &1 AP1T §H-9US
SUda Y B el | Fiiiad fasedl 4 4 981 W g -

1. @Y1 3R 11 GH Fal gl
2. HY 1 3R 11 GHf TTAd B

3. ®Y | HEl 8, g &Y 11 7Ted g
4. Y| Tad &, fog B 1 98T B

1)
(2)
(3)
(4)

A W N R

1[Option ID=47029] Question Description : dwbv_pg_gp10_eng_2_q33
2[Option ID=47030]
3[Option ID=47031]
4[Option ID=47032]

Sl. No.34
QBID:10201034

Which one of the following acronyms is matched incorrectly with their full form?

1. PNG - Portable Nested Graphics

2. GIF - Graphics Interchange Format

3. CSV - Comma Separated Values

4. MIDI - Musical Instrument Digital Interface

1)
(2)
(3)
(4)

A W N R




afeiad # 9 oI 91 a9 eiu- gul 918 & 91y TTcd ©U H ™ T g?

1. 1 &7 off - Oidad JRes Tiftha

2. 51t 318 U - AIhad exdsl hide

3. 4 T At - B YIRS degd

4.TH 35 31 1S - Ffoidd geghe ffoed 33t

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47033] Question Description : dwbv_pg_gp10_eng_2_q34
2[Option ID=47034]

3[Option ID=47035]
4[Option ID=47036]

Sl. No.35
QBID:10201035

Tania connects the computer to her home network. The computer has a MAC address and an IP
address. Identify the correct order of the following terms A-E to complete the paragraph given
below about MAC address and IP address:

A MAC address is a media access address. A network device has a MAC address
that helps to the device in the network. An IP address is an Internet address and
it can be static or

A. Control

B. Dynamic

C. Identification

D. Protocol

E. Unique

Choose the correct answer from the options given below:

1.EACDB
2.AECDE
3.CAEBD
4.4 EBDC

(1) 1
) 2
3) 3
4) 4




IR - SR DI HUH 78 A2dd & A1y WISl g UL & TH U U USH § AR Udh A5 Y USH &
TH U USH 3R 13 Ul USH & 96y H 5 7 @1 g B & fau F9 uel A-F & 9El o ged i
UgdH DifIg;

U TS s dfsm sfirm __ uEe | eab Sy due __ uAUd uEE e g ul
“ead o JUH B o Jeral Bl ol o3 UG Udh 3ce ___ ToU gl s IR 78
HOq HYal_____ gl Uodi gl

A, g
B. TfaEia

C. i

D. Uieidld

E.

i< feu U faswel # 4 9t Iw g :
1.EACD,B
2.AECD,B

3.CAEBD
4.4 EBDC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47037] Question Description : dwbv_pg_gp10_eng_2_q35
2[Option ID=47038]

3[Option ID=47039]
4[Option ID=47040]

Sl. No.36
QBID:10201036

Which one of the following is not a constituent of photochemical smog?

1. Ozone (O3)

2. Peroxyacetyl Nitrate (PAN)
3. Dioxins

4. Formaldehyde (HCHQO)

(1) 1
(2) 2
3) 3
(4) 4

afiiad & 9 o (@ ToR-I9dH-® YH ®iel O S4e® el 67

1. HIFH (03)

2. IRAFIURIETZd A1ge e (PAN)
3. SIS HFE

4. BHCSEIRS (HCHO)

1 1
(2) 2
3) 3
(4) 4




1[Option ID=47041] Question Description : dwbv_pg_gp10_eng_2_q36
2[Option ID=47042]
3[Option ID=47043]
4[Option ID=47044]

Sl. No.37
QBID:10201037

What is the correct increasing order of Global Warming Potential of following air pollutants?
A. CFC-11 (CCI3F)

B. Nitrous Oxide (N2O)

C. Carbon dioxide (CO3)

D. Methane (CH4)

Choose the correct answer from the options given below:

1.D,C, B A
2.4 C DB
3.0 B A
4.C B DA

(1) 1
(2) 2
(3) 3
(4) 4

Fafiiad arg Ueu! & YHSH S Yyl &1 T8l SR Y a4l 87
A. CFC - 11 (CCl3P)

B. AT MERS (N-O)

C. BleH SRATHIZS (COy)

D. HIZF (CHy)

i fgu U fadenl § O 9 I g -
1.D,C,B A
2.A,C,D,B

3.0 B A
4.C B DA

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47045] Question Description : dwbv_pg_gp10_eng_2_q37
2[Option ID=47046]

3[Option ID=47047]
4[Option ID=47048]

Sl. No.38
QBID:10201038




Lead (Pb), one of the important criteria air pollutants, was widely used in petrol due to its efficacy
in?

1. Antiknocking

2. Knocking

3. Catalytic Conversion
4. Lubrication

(1)
(2)
(3)
(4)

TeayUl HUlC! arg Hgu@! H 4 U U1 (Pb) &1 0 H T {60 & guE@1Ral & R Ui | s
U Y Ui faar S ot

1. AUERICEHH
2. HUEBIEH

3. JARP| URUEA
4. He

A W N =

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=47049] Question Description : dwbv_pg_gp10_eng_2_q38
2[Option ID=47050]

3[Option ID=47051]
4[Option ID=47052]

Sl. No.39
QBID:10201039

Which one of the following wind energy rotors is mostly used for the electricity power
generation?

1. Multiblade rotor
2. Propeller rotor
3. Savonious rotor
4. Darrieus rotor

1)
(2)
(3)
(4)

FOfed & T @ U 9g7 FHal e & [dggd Sl Il & (o4 HeHaR SUgrT fedl S 82

1. Aeciads Ued
2. dG® AR
3. YaITg TeT
4. 3gg AR

A W N =

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=47053] Question Description : dwbv_pg_gp10_eng_2_q39
2[Option ID=47054]




3[Option ID=47055]
4[Option ID=47056]

Sl. No.40
QBID:10201040

The Secretariat of Convention on Biodiversity (CBD) is based in

1. Montreal, Canada

2. Rio de Janeiro, Brazil

3. Geneva, Switzerland

4. New York, United States

1 1
(2) 2
3) 3
(4) 4

g fafaear dasf ifiramy @t st ) &1 afgecn FaF 9 sei Ra g2

1. Fifead, H-rST

2. g st sl

3. o4, RaeoRds

4, U, TG T STRIDI

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47057] Question Description : dwbv_pg_gp10_eng_2_q40
2[Option ID=47058]

3[Option ID=47059]
4[Option ID=47060]

Sl. No.41
QBID:10201041

According to NEP (2020) Higher Education Institutions (HEIs) will focus on research and
innovation by setting up:

A. Holistic deveopment centres

B. Start-up incubation centres

C. Technology deveopment centres

D. Greater Industry-academic linkages

E. Centres of Performing Arts

Choose the correct answer from the options given below:

1.A B, Cand E only
2.B, Cand D only
3.B,C, DandEonly
4.A B, CDandE

(1) 1
) 2
3) 3
(4) 4




PTY FR1al Hifd (2020) & TR IR 4T TUH (TH.3.3115,) Y IR FIER R Biod HH &
Fgiferd # foa! wafia &8

A T AN &%

B. WIE-30 Swa b5

c. Uit faem os

D. HgTH Ie1-RI&T Feiy

£. U= ool dg

<< feu 7Te fadeal 5 9 98l SR 9 -
1. @A A, B, C 3R E
2.%a B, C AR D
3.®Had B, C, D HRE

4.A B,C, D3RE

1)
(2)
(3)
(4)

A W N R

1[Option ID=47061] Question Description : dwbv_pg_gp10_eng_2_q41
2[Option ID=47062]
3[Option ID=47063]
4[Option ID=47064]

Sl. No.42
QBID:10201042

Universities in Calcutta, Bombay and Madras were established through the acts of incorporation
passed by which of the governor-general and viceroy, in January, 18577

1. Lord Canning

2. Lord Curzon

3. Lord Mountbaton
4. Lord Linlithgow

(1)
(2)
(3)
(4)

SHE 1857 H Ba@dl, 883 AR 59 § Gyfaared &1 |1 69 Ta-3-oRa AR a8y xR
IRd == HfHEE gR & o7

1. IS B
2. TS ®oiA
3. T8 ARdeacd
4. 7T faiferm

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=47065] Question Description : dwbv_pg_gp10_eng_2_q42
2[Option ID=47066]
3[Option ID=47067]
4[Option ID=47068]




Sl. No.43

QBID:10201043
National Council of Rural Institutes (NCRI), is a registered autonomous society fully
funded by the Central Government.

1. Hyderabad
2. Delhi

3. Bangalore
4. Calcutta

1) 1
(2) 2
3) 3
(4) 4

P AU TH URYE (T I 3R A15) ___ HE WHR R Juid: 8 Uifd T Usiigpd g
e 2

1. geXIEg
2. fecedt
3. §TAR
4, AT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47069] Question Description : dwbv_pg_gp10_eng_2_q43
2[Option ID=47070]

3[Option ID=47071]
4[Option ID=47072]

Sl. No.44
QBID:10201044

As per NEP-2020, in Higher Education Institutions (HEIs), the focus areas of vocational education
will be chosen basad on:

A, Gender basis

B. Skill gap analysis

C. Value oriented learning

D. Mapping of local opportunities
E. Visual arts

Choose the correct answer from the options given below:

1. A and C only
2. A Band D only
3.C, Dand E only
4.B and D only

1) 1
(2) 2
3) 3
(4) 4




YT & ifel - 2020 & SFFHR, IR (041 T b SAURT W A RI&T & dbisa &l
@I TG HUI?

A. TR YR
B. ®IEq R fawemm

C. qcd 3=1@ HITH

D. R 3EHl B HHA

E. T30 ®all

i<l feu e fadeal & 9 W6l SR 9 -
1. ®Had A SR C
2.%ad A, B 3R D

3.HaAC, DARE
4.%dd B 3R D

1)
(2)
(3)
(4)

A W N R

1[Option ID=47073] Question Description : dwbv_pg_gp10_eng_2_q44
2[Option ID=47074]
3[Option ID=47075]
4[Option ID=47076]

Sl. No.45
QBID:10201045

Given below are two statements:
Statement |: Teacher centered learning is one of main chracteristics of Non-conventional learning.
Statement |I: Prescribed curriculum is one of the main characteristics of conventional learning.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement 1l is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N =




EIEEALAE N AR
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Read the following passage and answer the questions that follow:

Malthus (1766-1834) produced his Essay on the Principle of Population in 1798. He said that the
crux of the population problem was ‘the existence of a tendency in mankind to increase, if
unchecked, beyond the possibility of an adequate supply of food in a limited territory’. Malthus
thought that an increased food supply was achieved mainly by bringing more land into arable
production. He maintained that while the supply of food could, at best, only be increased by a
constant amount in arithmetic progression the human population tends to increase in geometrical
progression the human population tends to increase in geometrical progression multiplying itself
by a constant amount each time. In time, population would outstrip food supply untill a
catastrophe occurred in the form of famine, disease or war. War would occur as human groups
fought over increasingly scarce resources. These limiting factors maintained a balance between
population and resources in the long term. In a later paper, Malthus placed significant emphasis on
‘moral restraint’ as an important factor in controlling population.

Clearly, Malthus was influenced by events in and before the eighteenth century and could not
have foreseen the great advances that were to unfold in the following two centuries that have
allowed population to grow at an unprecedented rate, alongside a huge rise in the exploitation
and use of resources. There have been many advances in agriculture since the time of Malthus that
have contributed to huge increases in agricultural production. These advances include: the
development of artificial fertilisers and pesticides, new irrigation techniques, high yielding varieties
of crops, cross-breeding of cattle, greenhouse farming and the reclamation of land frem the sea.
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Given below are two statements:
Statement |: Growth in arithmetical progression is faster than that in geometrical progression.
Statement II: The only paper that Malthus came out was his Essay on the Principle of Population.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1) 1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the questions that follow:

Malthus (1766-1834) produced his Essay on the Principle of Population in 1798. He said that the
crux of the population problem was ‘the existence of a tendency in mankind to increase, if
unchecked, beyond the possibility of an adequate supply of food in a limited territory’. Malthus
thought that an increased food supply was achieved mainly by bringing more land into arable
production. He maintained that while the supply of food could, at best, only be increased by a
constant amount in arithmetic progression the human population tends to increase in geometrical
progression the human population tends to increase in geometrical progression multiplying itself
by a constant amount each time. In time, population would outstrip food supply untill a
catastrophe occurred in the form of famine, disease or war. War would occur as human groups
fought over increasingly scarce resources. These limiting factors maintained a balance between
population and resources in the long term. In a later paper, Malthus placed significant emphasis on
‘moral restraint’ as an important factor in controlling population.

Clearly, Malthus was influenced by events in and before the eighteenth century and could not
have foreseen the great advances that were to unfold in the following two centuries that have
allowed population to grow at an unprecedented rate, alongside a huge rise in the exploitation
and use of resources. There have been many advances in agriculture since the time of Malthus that
have contributed to huge increases in agricultural production. These advances include: the
development of artificial fertilisers and pesticides, new irrigation techniques, high yielding varieties
of crops, cross-breeding of cattle, greenhouse farming and the reclamation of land frem the sea.
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): Malthus could accurately predict the population growth that has taken place in the
last two centuries.

Reason (R): He believed that food supply could be increased by bringing more land into arable
production.

In light of the above statements, choose the most appropriate answer from the options given
below:

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct and (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1) 1
(2) 2
(3) 3
(4) 4
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Read the following passage and answer the questions that follow:

Malthus (1766-1834) produced his Essay on the Principle of Population in 1798. He said that the
crux of the population problem was ‘the existence of a tendency in mankind to increase, if
unchecked, beyond the possibility of an adequate supply of food in a limited territory’. Malthus
thought that an increased food supply was achieved mainly by bringing more land into arable
production. He maintained that while the supply of food could, at best, only be increased by a
constant amount in arithmetic progression the human population tends to increase in geometrical
progression the human population tends to increase in geometrical progression multiplying itself
by a constant amount each time. In time, population would outstrip food supply untill a
catastrophe occurred in the form of famine, disease or war. War would occur as human groups
fought over increasingly scarce resources. These limiting factors maintained a balance between
population and resources in the long term. In a later paper, Malthus placed significant emphasis on
‘moral restraint’ as an important factor in controlling population.

Clearly, Malthus was influenced by events in and before the eighteenth century and could not
have foreseen the great advances that were to unfold in the following two centuries that have
allowed population to grow at an unprecedented rate, alongside a huge rise in the exploitation
and use of resources. There have been many advances in agriculture since the time of Malthus that
have contributed to huge increases in agricultural production. These advances include: the
development of artificial fertilisers and pesticides, new irrigation techniques, high yielding varieties
of crops, cross-breeding of cattle, greenhouse farming and the reclamation of land frem the sea.
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Given below are two statements:

Statement I: Malthus believed that population grows faster than the food supply.

Statement II: Malthus was greatly influenced by events that occured in the nineteenth century.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1)
(2)
(3)
(4)
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Read the following passage and answer the questions that follow:

Malthus (1766-1834) produced his Essay on the Principle of Population in 1798. He said that the
crux of the population problem was ‘the existence of a tendency in mankind to increase, if
unchecked, beyond the possibility of an adequate supply of food in a limited territory’. Malthus
thought that an increased food supply was achieved mainly by bringing more land into arable
production. He maintained that while the supply of food could, at best, only be increased by a
constant amount in arithmetic progression the human population tends to increase in geometrical
progression the human population tends to increase in geometrical progression multiplying itself
by a constant amount each time. In time, population would outstrip food supply untill a
catastrophe occurred in the form of famine, disease or war. War would occur as human groups
fought over increasingly scarce resources. These limiting factors maintained a balance between
population and resources in the long term. In a later paper, Malthus placed significant emphasis on
‘moral restraint’ as an important factor in controlling population.

Clearly, Malthus was influenced by events in and before the eighteenth century and could not
have foreseen the great advances that were to unfold in the following two centuries that have
allowed population to grow at an unprecedented rate, alongside a huge rise in the exploitation
and use of resources. There have been many advances in agriculture since the time of Malthus that
have contributed to huge increases in agricultural production. These advances include: the
development of artificial fertilisers and pesticides, new irrigation techniques, high yielding varieties
of crops, cross-breeding of cattle, greenhouse farming and the reclamation of land frem the sea.
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Malthus believed that food supply could be increased by

1. use of artificial fertilisers

2. use of pesticides

3. use of high yeilding varieties of crops

4. bringing more land into arable production

(1) 1
) 2
3) 3
4) 4




=

IRy & IR gl

Rad H € fad gr1 @ 1S H gfs @1 & 9@l 52

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=47093]
2[Option ID=47094]

3[Option ID=47095]
4[Option ID=47096]

1. BIHH AP B ITN

2. BIeATEI®! B TR
3. Bl B 3= SUSGR] [l BT IudrT
4. Pt g TG # D i 3T TR

Question Description : dwbv_pg_gp10_eng_2_q49

Sl. No.50
QBID:10201050




Read the following passage and answer the questions that follow:

Malthus (1766-1834) produced his Essay on the Principle of Population in 1798. He said that the
crux of the population problem was ‘the existence of a tendency in mankind to increase, if
unchecked, beyond the possibility of an adequate supply of food in a limited territory’. Malthus
thought that an increased food supply was achieved mainly by bringing more land into arable
production. He maintained that while the supply of food could, at best, only be increased by a
constant amount in arithmetic progression the human population tends to increase in geometrical
progression the human population tends to increase in geometrical progression multiplying itself
by a constant amount each time. In time, population would outstrip food supply untill a
catastrophe occurred in the form of famine, disease or war. War would occur as human groups
fought over increasingly scarce resources. These limiting factors maintained a balance between
population and resources in the long term. In a later paper, Malthus placed significant emphasis on
‘moral restraint’ as an important factor in controlling population.

Clearly, Malthus was influenced by events in and before the eighteenth century and could not
have foreseen the great advances that were to unfold in the following two centuries that have
allowed population to grow at an unprecedented rate, alongside a huge rise in the exploitation
and use of resources. There have been many advances in agriculture since the time of Malthus that
have contributed to huge increases in agricultural production. These advances include: the
development of artificial fertilisers and pesticides, new irrigation techniques, high yielding varieties
of crops, cross-breeding of cattle, greenhouse farming and the reclamation of land frem the sea.
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According to Malthus's Essay on the Principle of population, human population would be kept in
check by

A war

B. moral restraint
C. famine

D. disease

Choose the correct answer from the options given below:

1. A, B and Conly
2.BCand D only
3.A Cand D only
4.A B, Cand D
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(2)
(3)
(4)
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1[Option ID=47137]
2[Option ID=47138]
3[Option ID=47139]
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Question Description : dwbv_pg_sans_sans_2_q10

Sl. No.11
QBID:25011

T By i -

1. o 3R SR@ITe: eI UHiae e @ Ual xaie: THad |
2. a0 Ua s URad WP iaa-ed 9 SRl aa@lie: Tr{Ted |
3. JaAUG I -al: S SRDITe: F JrT|

4. AR JvTSIfe: TR |

1)
(2)
(3)
(4)

A W N =

1[Option ID=47145]
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Question Description : dwbv_pg_sans_sans_2_q11
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1[Option ID=47149]
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Question Description : dwbv_pg_sans_sans_2_q12
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1[Option ID=47153] Question Description : dwbv_pg_sans_sans_2_q13
2[Option ID=47154]
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1[Option ID=47157] Question Description : dwbv_pg_sans_sans_2_q14
2[Option ID=47158]
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4[Option ID=47160]
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1[Option ID=47161] Question Description : dwbv_pg_sans_sans_2_q15
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3[Option ID=47163]
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1[Option ID=47165] Question Description : dwbv_pg_sans_sans_2_q16
2[Option ID=47166]
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1[Option ID=47169] Question Description : dwbv_pg_sans_sans_2_q17
2[Option ID=47170]

3[Option ID=47171]
4[Option ID=47172]
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1[Option ID=47173] Question Description : dwbv_pg_sans_sans_2_q18
2[Option ID=47174]
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4[Option ID=47176]
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1[Option ID=47177] Question Description : dwbv_pg_sans_sans_2_q19
2[Option ID=47178]

3[Option ID=47179]
4[Option ID=47180]
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1[Option ID=47181] Question Description : dwbv_pg_sans_sans_2_q20
2[Option ID=47182]

3[Option ID=47183]
4[Option ID=47184]
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1[Option ID=47185] Question Description : dwbv_pg_sans_sans_2_q21
2[Option ID=47186]

3[Option ID=47187]
4[Option ID=47188]
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1[Option ID=47189] Question Description : dwbv_pg_sans_sans_2_q22
2[Option ID=47190]

3[Option ID=47191]
4[Option ID=47192]
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1[Option ID=47193] Question Description : dwbv_pg_sans_sans_2_q23
2[Option ID=47194]

3[Option ID=47195]
4[Option ID=47196]

Sl. No.24
QBID:25024
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1[Option ID=47197] Question Description : dwbv_pg_sans_sans_2_q24
2[Option ID=47198]

3[Option ID=47199]
4[Option ID=47200]
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1[Option ID=47201] Question Description : dwbv_pg_sans_sans_2_q25
2[Option ID=47202]

3[Option ID=47203]
4[Option ID=47204]
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1[Option ID=47205] Question Description : dwbv_pg_sans_sans_2_q26
2[Option ID=47206]

3[Option ID=47207]
4[Option ID=47208]
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1[Option ID=47209] Question Description : dwbv_pg_sans_sans_2_q27
2[Option ID=47210]

3[Option ID=47211]
4[Option ID=47212]
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1[Option ID=47213] Question Description : dwbv_pg_sans_sans_2_q28
2[Option ID=47214]

3[Option ID=47215]
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1[Option ID=47217] Question Description : dwbv_pg_sans_sans_2_q29
2[Option ID=47218]

3[Option ID=47219]
4[Option ID=47220]
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1[Option ID=47221] Question Description : dwbv_pg_sans_sans_2_q30
2[Option ID=47222]
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4[Option ID=47224]
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1[Option ID=47225] Question Description : dwbv_pg_sans_sans_2_q31
2[Option ID=47226]

3[Option ID=47227]
4[Option ID=47228]
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1[Option ID=47229] Question Description : dwbv_pg_sans_sans_2_q32
2[Option ID=47230]

3[Option ID=47231]
4[Option ID=47232]
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1[Option ID=47233] Question Description : dwbv_pg_sans_sans_2_q33
2[Option ID=47234]
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Sl. No.34
QBID:25034




USRI SR QR10 fagd?

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47237] Question Description : dwbv_pg_sans_sans_2_q34
2[Option ID=47238]
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1[Option ID=47241] Question Description : dwbv_pg_sans_sans_2_q35
2[Option ID=47242]
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1[Option ID=47245] Question Description : dwbv_pg_sans_sans_2_q36
2[Option ID=47246]
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1[Option ID=47249] Question Description : dwbv_pg_sans_sans_2_q37
2[Option ID=47250]

3[Option ID=47251]
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1[Option ID=47253] Question Description : dwbv_pg_sans_sans_2_q38
2[Option ID=47254]
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1[Option ID=47257] Question Description : dwbv_pg_sans_sans_2_q39
2[Option ID=47258]
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1[Option ID=47261]
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4[Option ID=47264]

Question Description : dwbv_pg_sans_sans_2_q40
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1[Option ID=47265]
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Question Description : dwbv_pg_sans_sans_2_q41
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1[Option ID=47269]
2[Option ID=47270]

3[Option ID=47271]
4[Option ID=47272]

Question Description : dwbv_pg_sans_sans_2_q42
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1[Option ID=47273]
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3[Option ID=47275]
4[Option ID=47276]

Question Description : dwbv_pg_sans_sans_2_q43
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1[Option ID=47277]
2[Option ID=47278]
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4[Option ID=47280]

Question Description : dwbv_pg_sans_sans_2_q44
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1[Option ID=47281]
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3[Option ID=47283]
4[Option ID=47284]

Question Description : dwbv_pg_sans_sans_2_q45
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1[Option ID=47285] Question Description : dwbv_pg_sans_sans_2_q46
2[Option ID=47286]

3[Option ID=47287]
4[Option ID=47288]
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1[Option ID=47289] Question Description : dwbv_pg_sans_sans_2_q47
2[Option ID=47290]
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1[Option ID=47293] Question Description : dwbv_pg_sans_sans_2_q48
2[Option ID=47294]
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1[Option ID=47297] Question Description : dwbv_pg_sans_sans_2_q49
2[Option ID=47298]
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1[Option ID=47301]
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4[Option ID=47304]

Question Description : dwbv_pg_sans_sans_2_q50
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Tifed famed fora-
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1[Option ID=47305]
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Question Description : dwbv_pg_sans_sans_2_q51
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1[Option ID=47309] Question Description : dwbv_pg_sans_sans_2_q52
2[Option ID=47310]
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1[Option ID=47313] Question Description : dwbv_pg_sans_sans_2_q53
2[Option ID=47314]
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1[Option ID=47317] Question Description : dwbv_pg_sans_sans_2_q54
2[Option ID=47318]

3[Option ID=47319]
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1[Option ID=47321] Question Description : dwbv_pg_sans_sans_2_q55
2[Option ID=47322]

3[Option ID=47323]
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1[Option ID=47325] Question Description : dwbv_pg_sans_sans_2_q56
2[Option ID=47326]
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1[Option ID=47329] Question Description : dwbv_pg_sans_sans_2_q57
2[Option ID=47330]
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4[Option ID=47336]

Sl. No.59
QBID:25059

faaféfaarsa: Hel &: -
A. SYTREHHTH
B. A dfdEhay
C. YasIhHISTH
D. HUAETHHATIY
E. DIPTE o GTH
Tiferd fa@ed fed-
1.C, D PR
2. A B HaTH

3. C, D hhaaH
4.D, E thdaH

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=47337] Question Description : dwbv_pg_sans_sans_2_q59
2[Option ID=47338]

3[Option ID=47339]
4[Option ID=47340]

Sl. No.60
QBID:25060

AW BYTH % -

A YTGaEURGY: WYST T ae=:

B. AT TTg Tl Tg Rixiged: Ual=iy:

C. dSEdadIRG g aiaaH! T

D. d-afaury fanfay FRyarg gregs=: fidd aeawd §:
E. THR SIfcerayuyda! &1 Uy a1 Helead 3id o
Tifed famed fora-

1. A, D B

2. A CHaaq

3. B, D hdaH
4.D, E thdaH

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47341] Question Description : dwbv_pg_sans_sans_2_q60
2[Option ID=47342]

3[Option ID=47343]
4[Option ID=47344]




Sl. No.61
QBID:25061

facguIdd: 9 w: -

A. f[ashATg CaaRamiony

B. AR Alch

C. IRuRRErifdeeny

D. QUIAYHEIHIH
E. T HIg IRaH
Tifad faded -

1. A, D $haaq
2.B, E haayq
3.C, D dhdaH
4. A C AT

1)
(2)
(3)
(4)

A W N R

1[Option ID=47345] Question Description : dwbv_pg_sans_sans_2_q61
2[Option ID=47346]
3[Option ID=47347]
4[Option ID=47348]

Sl. No.62
QBID:25062

DI BYAH & -
A. T U g ifawied faeiad
5. gfagrautiidl & gus: uen unidemaieatd
C. YIS TR SRR O aRmereadia faemamedy
D. HARFTH HAREH G dIidHe—H
E. O gaHIfang fagH g=ia aifers
Tuifod fawed -
1. A, B HacH
2.B, C hdaH

3.C, D dhaaH
4.D, E HaeH

(1)
(2)
(3)
(4)

A W N R

1[Option ID=47349] Question Description : dwbv_pg_sans_sans_2_q62
2[Option ID=47350]
3[Option ID=47351]
4[Option ID=47352]

Sl. No.63
QBID:25063




Ry Qo g -
A, 1

B. A=A

c. e

D. Ucdq:
E. thc:
Tuifad faded foa-

1. A, E hdaH
2.A B ddcH
3.C, D dhdaH
4. A C AT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47353] Question Description : dwbv_pg_sans_sans_2_q63
2[Option ID=47354]

3[Option ID=47355]
4[Option ID=47356]

Sl. No.64
QBID:25064

Hefeady HeTHRAH SPTpRI fod -
A. Gl

B. JEFTUEIE:

C. ARGV

D. 4TeR:

E. HeaRd:

Tuifod fawed -

1. A, B HacH
2.C, D haaH
3.C, E haaq
4. A, C AT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47357] Question Description : dwbv_pg_sans_sans_2_q64
2[Option ID=47358]

3[Option ID=47359]
4[Option ID=47360]

Sl. No.65
QBID:25065




HelifeiRad oy Ul agfuay 3o fod -

HYTH | - Tay - iRt fge fad- s iaqes qikaReHes 4]
THYFH || - DAY AP aHaD - T DHa 10! lihad
i ST fgd -

1. 3Yg U T =

2. 349 B IHE &i:

3. TYH Y T g f5did FYTH FTH
4. JuH DY 38 g fadid SYTH 909

(1)
(2)
(3)
(4)

A W N R

1[Option ID=47361] Question Description : dwbv_pg_sans_sans_2_q65
2[Option ID=47362]
3[Option ID=47363]
4[Option ID=47364]

Sl. No.66
QBID:25066

Iy dcadHdH 3 -

A. U] T gUS: gHerF diEdl

B. 3THT Ufcire ®id gal g Saawl

C. 3t g 3 I dfed Y

D. ST g g Yfda: Wiy g7 A1
TuifoaH S fod -

1. A, B Haaq
2.B, C haaH
3. A, D haay
4.B, D BaHq

(1)
(2)
(3)
(4)

A W N R

1[Option ID=47365] Question Description : dwbv_pg_sans_sans_2_q66
2[Option ID=47366]
3[Option ID=47367]
4[Option ID=47368]

Sl. No.67
QBID:25067




HeIIRIAY SURAFY & § ARG -0diu urad?
A. TR
B. TTfa=-3JUr=—H
C. AMBTAIRAFH
D. JIfd-JURAHH
E. S RIUREAH
Tifad faded -
1. A, B Only
2.B, C Only

3.C, D Only
4.D, E Only

1)
(2)
(3)
(4)

A W N R

1[Option ID=47369] Question Description : dwbv_pg_sans_sans_2_q67
2[Option ID=47370]
3[Option ID=47371]
4[Option ID=47372]

Sl. No.68
QBID:25068

HelifeiRad o1k ufd@r 3w faa-

DY | :- "I I BARAIGHAIHH dlggH |
BIAHRUTIEA@R] f[daad | " 3fd TpifaeiiadmR: Hudia
DY Il :- "TGH DI GG Y|
HIATGd Jd¥i- dedel HEwd | 1" 3id HHgs Haq
Tiferd faded ford -

1. WYHH 9 f5d1d Y9 93

2. JUAH T4 fgdid dUa 39dq

3. UYH HY-TH §dH Ud fgdigq 3edaq
4. JUH HYUH HTTH Ud fgaioH 90

(1) 1

2) 2

3) 3

(4) 4

1[Option ID=47373] Question Description : dwbv_pg_sans_sans_2_q68
2[Option ID=47374]

3[Option ID=47375]
4[Option ID=47376]

Sl. No.69
QBID:25069




AT -

1. A, B ®aaH
2.B, C hdaH
3.C, E haaH
4. A, D B

1)
(2)
(3)
(4)

A W N R

1[Option ID=47377]
2[Option ID=47378]
3[Option ID=47379]
4[Option ID=47380]

A SaIs AIsaEgl 599 3fa AT
B. 72 g fart wiiep: Ueitefa 7 digfa
C. d: Hial YUt diuresaEy

D. GUS: RS Ual: Fal GUs warReafd
E. I S0 YdHT ol 9 S aRq
Tifad faded -

Question Description : dwbv_pg_sans_sans_2_q69

Sl. No.70
QBID:25070
THferd Head -
G | (@) I 11 (GaT)
A. TG AR |, H&gaH
B. fUdT ATaT YTk THTE: 11, SR
c.afmHE el 11l ugE
D. 1€ S ¥HE HUITH . GTERIE
Tifed faded o d -

1. A-l, B-1I1, C-IV, D-lI
2. A-lll, B-I, C-1I, D-1V
3. A-l, B-1I, C-IV, D-IlI
4. A-l, B-IV, C-llI, D-1

1)
(2)
(3)
(4)

A W N =

1[Option ID=47381]
2[Option ID=47382]
3[Option ID=47383]
4[Option ID=47384]

Question Description : dwbv_pg_sans_sans_2_q70

Sl. No.71
QBID:25071




e Hedd -

cell Gl

A, CIADTSTETH |1 Ydda:
8. fayifipdidare: |1 Ode:
C. Taruiifgan Il T4 G:

D. GG aH V. BEG:
i faded fod -

1. A-l, B-1I, C-IV, D-1lI
2. A-lll, B-I, C-1I, D-1V
3. A-IV, B-l, C-I, D-IlI
4. A-ll, B-1V, C-llI, D-I

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=47385] Question Description : dwbv_pg_sans_sans_2_q71
2[Option ID=47386]

3[Option ID=47387]
4[Option ID=47388]

Sl. No.72
QBID:25072

THfod Head -

CEll GElll

A HEAgGd: | THEeRAH

B. YR I, HiEEeEEe
C.OHS: Il S

D. ORI, SHAI:
Tifad faded fod -

1. A-lll, B-1, C-II, D-IV
2. A-l, B-1I, C-IV, D-lI
3. A-IV, B-1II, C-1, D-1I
4. A-ll, B-1V, C-1II, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47389] Question Description : dwbv_pg_sans_sans_2_q72
2[Option ID=47390]

3[Option ID=47391]
4[Option ID=47392]

Sl. No.73
QBID:25073




Tyifed Aaad -

Gl el

A, SFTEH: I. ST RO
B. SFFEHP-Iuled-daa7 i1, IRfa:
c. fafgari s+ fafamr ofeam: 1. gy

D, avTR et RamTauag S ek |V, o

i faded fod -

1. A-IV, B-lI, C-1, D-1I
2. AL B-1V, C-HHE, D-1
3. A-l, B-1I, C-IV, D-IlI
4. A-lll, B-I, C-l, D-1V

(1) 1
(2) 2
(3) 3
(4) 4

1[Option ID=47393] Question Description : dwbv_pg_sans_sans_2_q73

2[Option ID=47394]
3[Option ID=47395]
4[Option ID=47396]

Sl. No.74
QBID:25074

Tifad Haad -

CEll

A GﬂldQﬁ-ﬂHHQlﬂldﬂHHdlﬁ:

TeqHGEY: YafyE g

B R
I.
8. Gfquafor i
ICEIRES
C. U Aam Rl b g I =o: .
gEfeTaayare: EEGIESIE
D. SEARGHFERAL: IEUEY: FA: IUgaEny
“ atla IV, EUED A

T faded fadd -

1. A-ll, B-1V, C-lII, D-I
2. A-l, B-1ll, C-IV, D-lI
3. A-lll, B-11, C-I, D-IV
4. A-Iv, B-I, C-II, D-1lI

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=47397] Question Description : dwbv_pg_sans_sans_2_q74

2[Option ID=47398]
3[Option ID=47399]
4[Option ID=47400]

Sl. No.75
QBID:25075




Tyifed Aaad -

cell el
A Uolgl o S Wradq |1 89
B. TG A SAMNGAT T |11, T&OH
C. 3 B 111, HIT:
D. TeHT: B 3 AGGIRIVE

Tferd famed fodd -

1. A-ll, B-1V, C-I, D-11I
2. A-IV, B-lI, C-1I, D-I
3. A-l, B-1I, C-lll, D-IV
4. A-lll, B-1, C-IV, D-lI

1)
(2)
(3)
(4)

A W N R

1[Option ID=47401]
2[Option ID=47402]
3[Option ID=47403]
4[Option ID=47404]

Question Description : dwbv_pg_sans_sans_2_q75

Sl. No.76
QBID:25076
e Head -
CEll Gl
A. SUTEFIETT | Tdfeie:
B. CI&{UTCI&OM II. ST gt
C. YRITT &I III. HLEEH
D. TG T&OT |1V, T Oi:
Tifad faded fod -

1. A-l, B-11, C-lll, D-IV
2. A-IL B-IV, C-11, D-11
3. A-IV, B-1, C-lII, D-1I
4. A-ll, B-1V, C-I, D-1lI

1)
(2)
(3)
(4)

A W N R

1[Option ID=47405]
2[Option ID=47406]
3[Option ID=47407]
4[Option ID=47408]

Question Description : dwbv_pg_sans_sans_2_q76

Sl. No.77
QBID:25077




Tyifed Aaad -

gl | sl

A, glidEid-giEsy 1. FreruTcasy

. fdarfo-wieren II. THSIHRTDTH
C. UpHaRid-widds i ferdar-ay

D. HPIGY-HIiHGH Iv. Fuefrafag
i faded fod -

1. A-lll;, B-1, C-IV, D-I
2. A-ll, B-IL, C-I, D-1V
3. A-l, B-IV, C-llI, D-lI
4. A-Iv, B-I, C-II, D-1lI

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47409] Question Description : dwbv_pg_sans_sans_2_q77
2[Option ID=47410]

3[Option ID=47411]
4[Option ID=47412]

Sl. No.78

QBID:25078
SR A Tt o -
oUNEal GUNEN]

A, THdREeT 1. fiagar<:

B. HHFHAIG-ac Il GG

C. TBDich 111. TTATITGATTTET:
D. IR v, Tafemd g
1. A-l, B-11, C-11, D-IV

2. A-IV, B-Il, C-lII, D-I

3. A-lll, B-I, C-1V, DIl

4. A-1l, B-1V, C-1, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47413] Question Description : dwbv_pg_sans_sans_2_q78
2[Option ID=47414]

3[Option ID=47415]
4[Option ID=47416]

Sl. No.79
QBID:25079




Tyifed Aaad -

Ol | @ g-TegaRnu ) e i @S

A, ST 1. fd=2reh TR,
B. DI [RENWII

C. FHEITH 111, EA[OT

D. TH™ V. G TaH

Tferd famed fodd -

1. A-ll, B-1V, C-I, D-11I
2. A-IV, B-II, C-1II, D-1
3. A-IV, B-1, C-llIl, D-lI
4. A-lll, B-1I, C-1V, D-I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47417] Question Description : dwbv_pg_sans_sans_2_q79
2[Option ID=47418]

3[Option ID=47419]
4[Option ID=47420]

Sl. No.80
QBID:25080

A, SR

B. AFG e

C. RMEETTRNAH

D. DIRHTERE

it faded o -
1.B,.CAD
2.CDAB

3.CBAD
4.D, A B, C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47421] Question Description : dwbv_pg_sans_sans_2_q80
2[Option ID=47422]

3[Option ID=47423]
4[Option ID=47424]

SlI. No.81
QBID:25081




i

UIdIG-SaTe- YA dIGaIa- Ud TdehHUl dre- i -
A. GUT eI

B. aTfedl gu:

C. Sl Ioid 9 5uq

D. HiY: fgwey dyay

E. g5 A 99 Jad=aq

Tifad faded forga -

1T.A B C
2.B,C,D
3.B.DE
4.C D E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47425] Question Description : dwbv_pg_sans_sans_2_q81
2[Option ID=47426]

3[Option ID=47427]
4[Option ID=47428]

Sl. No.82
QBID:25082

AT A1 UR[ErTH Ud HH0 TTed -
A, 3MEIAIT:

B. HUTTHIT:

C. Meud:

D. a-1G:

E. A
Tuifod famed foa -

1T.A B C
2.C,DE
3.B.DE
4.D A B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47429] Question Description : dwbv_pg_sans_sans_2_q82
2[Option ID=47430]

3[Option ID=47431]
4[Option ID=47432]

Sl. No.83
QBID:25083




HelifeiRady-Famps, 3o-Re-dfeurd 9E, dnfdyrd g, 9-faudd a8 3ddswH0l sdasiuad -
A, THRTIfeET:
B. 9% §a:
C. Bay
D. i @ifewd Tt
Tuifed famed foa -
1.A,B,C,D
6 el

3.C,DAB
4.D,C B A

(1)
(2)
(3)
(4)

A W N R

1[Option ID=47433] Question Description : dwbv_pg_sans_sans_2_q83
2[Option ID=47434]
3[Option ID=47435]
4[Option ID=47436]

Sl. No.84
QBID:25084

HTARGAY TdY P, HIARE- diGaidy:, AaddiGaddy:, TINay: - TaHHU sIaRITaad -

A B

B. 3R

C g

D. T

it faded o -

1.D,C, A B
2.4 B CD
3.B,A D C
4.C D B A

(1)
(2)
(3)
(4)

A W N R

1[Option ID=47437] Question Description : dwbv_pg_sans_sans_2_q84
2[Option ID=47438]
3[Option ID=47439]
4[Option ID=47440]

Sl. No.85
QBID:25085




ST Ud S Haied -

A. SR EHAIEY dd&ud By 91 AT il i SydeesET | |
8. Yea1df TR 9o - HiqoaTuRENTeH | 8 srafyd afgargramiiut |

C. A HAL: UG iy $Ted Jaki- deaey HEwd| |

D. dGaIY! MeaTdl WUNddgddl G: BIf |
E. 1ol GRS Ad RIdaverdd | T8 WRdad Sraaidadiue gy ||
Tuifed faded fod -

1T.ACD
2.B,CE
3.C.DE
4. A EC

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=47441] Question Description : dwbv_pg_sans_sans_2_q85
2[Option ID=47442]

3[Option ID=47443]
4[Option ID=47444]

Sl. No.86
QBID:25086

YHIRITCE BRI AR Td Bav Fasad -
A, SHftHEETEs

B. STHIHR=UGH

C. SffoFquatan

D. SFHTINRIGEH

£ TTHeREH

giferd fased Tagd -

1.B,C,DE
2.EABD
3.ABCD
4. A CDE

(1)
(2)
(3)
(4)

A W N R

1[Option ID=47445] Question Description : dwbv_pg_sans_sans_2_q86
2[Option ID=47446]
3[Option ID=47447]
4[Option ID=47448]

Sl. No.87
QBID:25087




HUEE UaTH GUSHIAiayd &y=1H Ua HHU o4 -
A. fgrefaafet

B. T[S Wicgriet

C. SfcTerITHTYl

D. TeURREON

E. UeRRaT

Tuifed faded fod -

1T.ACE
2.C, DA
3.BCA
4.C D E

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47449] Question Description : dwbv_pg_sans_sans_2_q87
2[Option ID=47450]

3[Option ID=47451]
4[Option ID=47452]

Sl. No.88
QBID:25088

AT SRR aR e -
A Hgl
B. g

c. qot
D. Al
E. S/l
Tuifod famed foa -

1.D,AE B C
2.BCDEA
3.0,ECBA
4. CABDE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47453] Question Description : dwbv_pg_sans_sans_2_q88
2[Option ID=47454]

3[Option ID=47455]
4[Option ID=47456]

Sl. No.89
QBID:25089




HelifeRad dyAgd ulddr wHfIas S fd -
HHYH - MURNUS SRR AT Ui ddfd: G2l
8 - TFI Ut Sfia difteefm)
uifere I fagd -
1. 340 DY+ g fgdid Sy yyHd oo SHfa: 5|
2. 344wy gaH oo 50 Sy vy oy oFfad: B¢

3. UyH By 9 g fgad o|aH|
4. TyH FYH T fog fadd Tam|

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47457] Question Description : dwbv_pg_sans_sans_2_q89
2[Option ID=47458]

3[Option ID=47459]
4[Option ID=47460]

Sl. No.90
QBID:25090

Hefifeiad Aragd Ulfded S faed -

DU | - 3 TG YRIGANH --- | 3 Trgaa 5: |
YT Il - A GAGT S S S A |
Tuifed faded fod -

1. WH Ug gdid dUH 99

2. UH HYHH fadid oY 9 SEaq
3. WYH Sy FH, fediH o|aq
4. TYH PYH T, fadd gaq

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47461] Question Description : dwbv_pg_sans_sans_2_q90
2[Option ID=47462]

3[Option ID=47463]
4[Option ID=47464]

Sl. No.91
QBID:25091

srforfEa merit e warama Iwwfor forga -

BHIIGOEREYD! [AEREGRAN: | FHIaGaER SHaGBaHER] | 9 9 ould WeH: SAGEy:| Ry art
a1 Wiiemw Iremayiagd UURd | TRIRaRRFjeH God GIST &MadsPaud Fduq sanfesierma
i &4 faguar Hifdda: SHOUUEEEUGaar UduEd| U9 3eds: WHRuRia Sdie aidaigddidsiia:
T U IagUNeREUGar digd| du Bowrd awd dIsReRaRe:| iRy ¥ ug gg fAfEey
RUGRINUIEH 50| 9UT SR DA BasH-l, Afkie s REktbys:, A siurEG) griataeeiidad) $d @
T AU WRIESH! Joid” 3-H [ARgRH WRCTRRY f[dedait 7 WREIESHY ddbaHidgd daured, fd-g I
f: WRIGAIBIAE, Ao BIRIaR YT Saund|




@: IR W Wiifa?

1. 71 ol fagH:H- dhad WRIGIE M1 ol Hafd §:
2. 1 SIS Ioggart HIG ¥ 90 de-am e Higdl Haldl
3. T IS T WRIGAHTG: ST gadisHEg T 1

4. T: W ipmEH I d arf ST 6 |

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=47465] Question Description : dwbv_pg_sans_sans_2_q91
2[Option ID=47466]

3[Option ID=47467]
4[Option ID=47468]

Sl. No.92
QBID:25092

reffere et ST v IR e -

HHGaErEy®! [ARRIAGRAE: | SHa-ahaad SHa-ahadagad| 9 Jod Wem: Jaieed:| aigeg ar
fAgedH- WHiGEE gn I\ﬂruthﬂHldqqd UidquRld | FRIGaRReH God WIS &MHAdSPIHUG H&Qq EO R INPHEE
i &4 faguar Afdda: dHEUUEEEIGaaH UAuEd] Ud 3eds: SRuRa safed YRifaigddrdeiia:
TR UMY dOUNEREThaER died] dod BoawR ddd asHeRrfERy:| #ierRy 9 ud gg fafEsy
mﬁ@rwﬁq S| YT IR HHIUT Bed ], ?rﬁ“-lﬁlﬁ D4 PRy, MY AR gRdsrsiidad] od e
el TG WRISHHH! Fold” T fafearat- WRICHHERY [{eHdit 7 WRICTAESHY dabaHidgd Jiadred, g 9
Tcl: WRIGIHHEG, AT BRIy Y9u|

TOda URER: haH 31 -

1. 3: &THAd H HPTHUT Faufd)

2. O T IRET Uaed AUEH®H o]

3. GOIURHETSHU: o &)

4. DTHARE: I 4 Oq $H had a9 B Hdld THahuReR;|
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